Manuals+ — User Manuals Simplified.

SHARP
Mxx1-2

Large
Format
Display

SHARP Mxx1-2 Large Format Display Installation Guide

Home » Sharp » SHARP Mxx1-2 Large Format Display Installation Guide

Contents

1 SHARP Mxx1-2 Large Format Display
2 Specifications

3 Product Usage Instructions

4 FAQs

5 Product Description

6 Dimensions

7 Installing and Removing the Optional Table Top
Stand

8 Cable Connection
9 Documents / Resources
9.1 References

SHARP

SHARP Mxx1-2 Large Format Display


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/sharp
https://manuals.plus/sharp/mxx1-2-large-format-display-manual.pdf
https://manuals.plus/#sharp_mxx1-2_large_format_display
https://manuals.plus/#specifications
https://manuals.plus/#product_usage_instructions
https://manuals.plus/#faqs
https://manuals.plus/#product_description
https://manuals.plus/#dimensions
https://manuals.plus/#installing_and_removing_the_optional_table_top_stand
https://manuals.plus/#cable_connection
https://manuals.plus/#documents_resources
https://manuals.plus/#references

Specifications

« Type: LCD Display

« Resolution: 3840 x 2160
« Aspect Ratio: 16:9

o EMI: Class B

Product Usage Instructions

» Rotation:
o If the display is to be used in portrait orientation, rotation needs to be counterclockwise.
« Ventilation Recommendations:

o Dimensions below are the minimum recommended for proper ventilation. If the distances are less than
100mm, extra ventilation may be necessary. The ventilation space should not be covered or closed off at
the front of the opening.

« Installation Guidelines:

o NEC strongly recommends using size M6 screws (10-12mm + the thickness of the bracket and washers
in length) for pages 3, 5, and 7; and size M8 screws (16-18mm + the thickness of the bracket and
washers in length) for page 9.

« Optional Table Top Stand:

o To install or remove the optional tabletop stand for ME431, M501, and M551 models, use ST-401 or ST-

43M. For ME651, use ST-65M. Only use the screws included with the optional stand. The ST-65M will



need included stand holders to be attached as well.

FAQs

« Q: What should I do if my display is not rotating properly?
o A: Make sure the rotation is counterclockwise for portrait orientation. If issues persist, contact customer
support for further assistance.
« Q: Can | use different screws for installation?
o A: ltis strongly recommended to use the specified size M6 or M8 screws as per the guidelines provided

to ensure proper installation and support for the display.
Product Description
« Type: LCD Display

« Resolution: 3840 x 2160
« Aspect Ratio: 16:9

o EMI: Class B
Power
Dimensions ‘Weight VESA Pattern Consm‘nptmn (Typical)
(without stand) (without stand) o (T}T_m“]) 7 (Max Brightness)
(Max Brightness) Absolute Max~)
(Absolute Max*)
80W 272.8 BTU/r
R
M431-2 9:; :le"ff ogg“ffé‘i‘;“ 30.6 Ibs. /13 9kg 200 x 200mm (M6 x 4-hole) 95W 32395 BTUAu
AR 175W 596.75 BTU/Mr
o 5 85W 289 85 BTUr
M501-2 s e 381 Ihs /17 3kg 400 x 4D0mm (M6 x 4-hole) 100W 341 BTU/hr
mEl St 210W 716.1 BTU/hr
120W 409.2 BTU/r
1241.8 x 712.6 x 62.6mm =
M551-2 : : 43.7 Ibs. / 19.8kg 400 x 400 (M6 x 4-hole) 155W 528.55 BTUMr
48 89 x 28 06 x 2 46in. E5W 903.65 BTU/Mhr
M651-2 Miee R ERCIRE o 64.8 Ibs. / 29.4ke 400 X 400 (M8 X 4-hole) ;?:E\ :g ?: EFLE:
SR L A i 320W L0912 BIUMr

*Absolute Max refers to when the display is at full brightness with all slots active and volume at 100.

NOTES:

« This document is intended to be used as a reference guide to supply useful information for a design or
installation. It is not intended to be a step-by-step procedure for installation.

« Any ceilings or walls must be strong enough to support the monitor and the installation must follow any local
building codes. All mounts should make secure contact with wood studs.

« Distances are in inches, for millimeters multiplied by 25.4. Distances may vary £5%.

Rotation:

« If the display is to be used in portrait orientation, rotation needs to be counterclockwise.



Power Indicator

Ventilation Recommendations:

Dimensions below are the minimum recommended for proper ventilation.

=100 mm

=30 mm

=100 mm

=100 mm

<40 °C

NOTE:

« The above are recommendations to keep your display as cool as possible. If the distances are less than
100mm, extra ventilation may be necessary. The ventilation space should not be covered or closed off at the
front of the opening. If for some reason the opening needs to be covered, other means of ventilation will need

to be incorporated into the design. Contact NEC for design review and recommendations.

Dimensions

Display Dimensions — ME431:



38.307
37.212
(PANEL DISFLAY) 3.287 (HANDLE DEPTH)
37.055 2.466 (DEFTH)
+ — (ACTIVE AREA) _ ©
w €l 0.547 (13.9mm BEZEL) NS i
@
s}
2 il
Wy H! -
= s ﬁ Ex_:’l
w .‘I = (=]
\ \ c ~
L[y £
U.:
- o
= ~ —
=+ o~
o ——
o A = ) o
i EQWERLED. g i =
? bed [
<
DM-5 SLOT
Pl CM4 SLOT
(SDM—L SLOT IS BOTH SLOTS COMBINED)
ACIMLET —1 3.760 11.338 JI
Hl- d - D i L d -Eil
W =] — 0
H L - ik | (] i H
fe——— 15217 7.876 15216 ———————==

e

@
i

L ] @ @ e
A & &
r - @ 8 6 @ §
- A
- >® >® L _
Ll .
Z >® r ¢ - |H E N
:]I_ I Jin I"'\z
I >* © > Jﬂ:ﬂ/

2 __i

NA

(TERMIN
—-T:y4aw—-—

\
\CONTROL BUTTONS

s
\

NEC strongly recommends using size M6 screws (10-12mm + the thickness of the bracket and washers in length).



Unit _Mounfing
" Bracket

No thread | _,Washers
gL ¥

Thickness of
bracket and
washers

Display Dimensions — ME501:

HE =

44,425
43.251
(PANEL DISPLAY) 2.4
45,141 —
(ACTIVE AREA) ~
0.586(14.9mm BEZEL) ;—-S
2
By
O~y e o o)
8o &gl o 3
o i L] '
N = N - ™~
] &
==l £
— =2}
<
5 *
© R SENSOR — T
pt POWER LED~" || £—
T,M‘ o
<0 ey
\ . * + C:.
“':DM S SLOT
\§|; CM4 SLO
(SPM-L SLOT IS BOTH SLOTS COMBINED)
AC INLET
" . —5.269 15.676 ]
E. * * ‘ = * ‘ )
=i éﬁ =y

Z([ NF‘LE DEPTH)



)7 —f-—

o
750 — = 4 9

D]

- . - ® ® o
- NEC
m - _ (I .
~ N b4 o
3 —
(=] . 1]°.
. > & L |
T e [ -
'E * r - [ T4 [ T3 -_si
=T | L4 - |
s |,: T - En@
j ;:‘__E T @< [+] >@ ':__T)J
Z A Il
=0 & @< @< N <+
= | |
L f
—

s
\

CONTROL BUTTONS)

NEC strongly recommends using size M6 screws (10-12mm + the thickness of the bracket and washers in length).

Unit .Mount'ing
No thread _ Washers
D & [

IS |

Thickness of
bracket and
washers

Display Dimensions — ME551:



2.976(HANDLE DEPTH)
2.466 (DEPTH)
_ = o
r 0.647(13.9mm BEZEL) Ly
o iy
U}_
E ] i;‘
L} = P
=g =)
o A
Ik &
|
= £
ET.[
\ ) =
| — I~
\ I i
\ O RS |
I|I o 3 \
E‘ ‘ ’ of [
£ T i fval

\SDM-5 SLOT
\RPL CM4 SLOT
( SLOT IS BOTH SLOTS COMBINED)

AC ‘\\\——}3.257147 18.146 4—1
- v 5 T — T
] T omw way | %. T =g

e——— 16,571 15.748

@< @ @

4 —f-—

R O R 2 o
e . . <

® o @

N

15.749 ———=

ANEL)
—f-—

P
]
235
L

= r\,\ = A = = | [& o) "o d
% ® wk) oooeoool U >@§§ & = 2 & ~ 5
Ll ."‘
\’T/

CONTROL BUTTONS/

NEC strongly recommends using size M6 screws (10-12mm + the thickness of the bracket and washers in length).



Display Dimensions — ME651:

Unit

Mouniing

/" Bracket

_Washers

Thickness of

bracket and
washers

=5 = =5 =5 =
L * 1
57.571
56.398
{PANEL DISFLAY
56.239
(ACTIVE AREA)
T" D.5B7(14,9mm BEZEL)

il

11.546 —f

b/ = .
30
oy wnlwn g
e A Do M <
~ | =]
@ e e =
! I e
\ =z |2
| ==

\

]

—==— 0.587 (14.9mm BEZEL)

M
N
o™
M
IR SENSOR __—wf s
- =
POWER LED.— 8
I <
i
{SEN=S SLOT tt
\ CM4 SLO
(SDM—L SLOT IS BOTH SLOTS COMEINED)
“r}3.873 14.801 {
& ¥ ¥ 5 T — I ¥ 5 =
L. |- —I 1 |
-~

3.213(HANDLE PEPTH)

2.578(DEPTH)

25274

—=—6.125—




20911 15.753 20,811

08 — =

39— ==—86

.

v
00 — et

-d < r“ - - LH 8
= T u o< r - |
= =gy
o d Jl | [®% o 7o || ——
)]
Jj ")8 o« e o ° o o o
L | -
Z ® o | L L] ° g ®o u#le o #1 L1 @
o j M ¥
b |
= —

CONTROL BUTTONS|

NEC strongly recommends using size M8 screws (16-18mm + the thickness of the bracket and washers in length).

Unit _Mount.ing
/ / Bracket
No thread _,Washers

D
C| C_ It

Thickness of
bracket and
washers

Installing and Removing the Optional Table Top Stand

« The ME431, M501 and M551 use the ST-401 or ST-43M. The MEG651 utilizes the ST-65M
« Only use the screws that are included with the optional stand. The ST-65M will need included stand holders to

also be attached



ME431 |ST-43M (screws are included)

MES501
MES551

MEG651 | ST-65M (thumbscrews, screws, and stand holders are included)
ME®651 Optional table top stand

ST-401 or ST-43M (screws are included)

Optional stand holder

Soft cloth

200 mm (ME431)
400 mm (ME501/ME551)

« Table Top Stand Dimensions (ST-401 pictured below):

FOLE

—n = —
— o o o
- o O o
o o
8]
o of @ ||
o o o
o o
o o
o o
@ o
[ep] 5]
o o~ ol E
0 N o :
3 ©
o — o
2/ o/ ®
o
o —
o
o=l e |
r_r_’—.f__'ﬁ ﬁ%“ﬂ ® -
o
[ap]
[
o

Table Top Stand Dimensions (ST-65M):

Note — stand holder is included when the stand is purchased but is not included in drawing below



0.827

0.827

[i]
1.398

g,

1.398

e —— - [
e R — — n——— —

p—  me——

!

Optional Large Wall Mount (WMK-6598):



LH: 1985

17.50

=1

15.75

[]l-l ===
0
0
[] A

[
[
[
[

.00

15.75

[" — _I_-“I:II"I!:?"I -!-I‘:“ — _r-nj_.;ll]:;_D"D"
4]
-1
e
(%)

l
[

| 17.50

Lrl

1719

Optional Speaker Dimensions (SP-RM3a):



> J—
"¢
L[ - - - "': o i e
= i I L— T
. ;ﬂ—a._“_—. | | S—_} ¥ i - =
M
1|
- & 9 4 ' 1 [ - A B &
4
——
’ 1
e 9

Intel® Smart Display Module Integration:

1. Place the monitor face down on a flat even surface that is larger than the monitor screen. Use a sturdy table
that can easily support the weight of the monitor. To avoid scratching the LCD panel, always place a soft cloth,
such as a blanket that is larger than the monitor’s screen area, on the table before laying the monitor face
down. Make sure there is nothing on the table that can damage the monitor.

2. Remove the SLOT COVER and the OPTION COVER. Note when using the Intel® SDM-L type option board,
slide the CENTER RAIL to the right and remove it. Reverse the process to re-attach

3. Gently push in the SDM-S or SDM-L module

4. Attach included Option Cover after installation of SDM device.



OPTION COVER —__

()

OPTION COVER

~Intel® SDM-L

Compute Module Integration:

« Please see separate DS1-IF20CE installation guide for full integration. Image below may not represent actual
back of unit but the concept is the same.

« Removing the OPTION COVER is necessary for installation

Final installed DS-IF20CE with RPI CM4 below




Input Panel: Bottom

Side (Rotated)



e

w
E :
a
=
g
L
L
]
-]
g
3
"
0
i

|

ASCIl Common Commands:

This monitor supports common ASCII control commands with many other NEC projectors. For more information on
this, please see our website.

Parameter

Input command

Input signal name Response Parameter

DisplayPort1 DisplayPort1 DisplayPort1 or DisplayPort
DisplayPort2 DisplayPort2 | DisplayPort2

HDMI hdmi1 hdmi1 or hdmi

HDMI2 hdmi2 hdmi2

HDMI3 hdmi3 hdmi3

MP mp mp

OPTION option option




Status command

Response Error status

error:temp Temperature abnormal
error:fan Cooling fan abnormal
error:light Inverter or backlight abnormal
error:system System error

PD Comms Tool

« Please download the PD Comms Tool and open the Communications Log by going to View — Communications
Log. From here you can find any external control code necessary for your installation

« PD Comms Tool can be downloaded from here: https:/www.sharpnecdisplays.us/fags/pdcommstool/179.

o
Power
Power State a
on
Qo
C - Typ

Current stace: ©

Power On Delay

L Sent 21 bytes:

0 seconds 01 3041 304130430243 3230 33 44 36 30 30 3L 03 73 €0
[ Header Message Check | Delimiter
| sor|Reserved|  Destmation Source | Message | Messege | SX| Dsta(vessegepevioss) |ETX O°
| Aedress Aeress. Type Length
o 2 a ) 4 N4 | Q| HRVDHBDRD |06 7 [

n
Recaived 23 bytes:
013030 +1 42 J0-45 2 30 30 43 32 30 33 44 36 30 30 90 31 03 76 0D
[ Hender mesmge Check | Delimeer]
| 50H | Reserved|  Destination Source Message | Mesmge | STX Deta(Messwepayiond) [T O
| Acdress address. Type Length
D E) ar @ | w4 0| w0saminsamn | 7% )
EEE

celved (message payload only):
0I43I23033MIE020 3031

Gommunications Inte face Display List
O eszn2 e R com
or X Add current. Interface: Meniter 1D
[CRTY] 1P address: | 192.168.0 .16 \ search...
8 Delete selecr=d
O cummy Intace send o) =
Show i e copy
Honltor 10 _ Openfe... i d
Z Test 5
1 Auto Detect H sve ..

Cable Connection

Communication Protocol:

« Interface: RS-232C

« Communication System: Asynchronous
« Baud Rate: 9600 bps

« Data Length: 8 bits

« Parity: None

« Stop Bit 1 bit

o Communication Code: ASCII


https://www.sharpnecdisplays.us/faqs/pdcommstool/179

To TxD of PC —_
To RxD of PC -
To GND of PC —

ToRTSofPC
To CTS of PC -

Interface: Ethernet (CSMA/CD

« Communication System: TCP/IP (Internet Protocol Suite)

« Communication Layer: Transport layer (TCP)
« IP Address: 192.168.0.10 (default out of the box)
« Port Number: 7142 (Fixed)

-

Transmit Data+ 1 .
Transmit Data- < =
Receive Data+ = = = = 3__
Not Used L —
Not Used %.=
Receive Data- = =

Not Used 3_._
Not Used

i

Browser Control:

Information and control can also be available through the HTTP browser control menu. To accomplish this, type:
http://<the Monitor’s IP address>/pd_index.html Note that the LAN Power needs to be turned on for the display to
be controlled while the units are off. All displays are set to the IP address 192.168.0.10 out of the box unless
changed through the initial setup guide Communicating network PC needs to be on the same subnet as the
display that is being communicated with



NEC HDMI1

REMOTE CONTROL
Welcome to the management and configuration web interface.

% You can use the navigation menus on the left to access additional nages.
AUDIO
SCHEDULE
MULTI PICTURE CONTROL MONITOR INFORMATION
0sD
MULTI DISPLAY CERELRAEE
DISPLAY PROTECTION
EXTERMAL CONTROL SERIAL 45500005TA
ADVANCED OPTION1
ADVANCED OPTION2
FIRMWARE VERSION
NETWORK
MAIL FIRMWARE | 0.017
SNMP
AMX FIRMWARE? 0.008
CRESTRON FIRMWAREZ 0.011
NETWORK PASSWORD
PD LIST FIRMWARE4 0.002
MEMO
UPDATE FIRMWARE
ORT ETHERNET
UPDATE FIRMWARE(ALL)
MAC ADDRESS 58:C2:32:33:00:03
1Pv4 ADDRESS 192.168.0.10
SUBNET MASK 255.255.255.0
DEFAULT GATEWAY 0.0.0.0
DNS PRIMARY 0.0.0.0
DNS SECONDARY 0.0.0.0
ID

Copyright © NEC Display Sclutions, Ltd. 2€14. All rights reserved.

www.sharpusa.com.

Documents / Resources

SHARP Mxx1-2 Large Format Display [pdf] Installation Guide
Mxx1-2, Mxx1-2 Large Format Display, Mxx1-2, Large Format Display, Format Display, Display

References

« @ Sharp Electronics | SharpUSA
« User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


http://www.sharpusa.com
https://manuals.plus/m/a5be612fb3734dce4db1b182aa9e2033709e9b567a1c031d29dcb5bca7f2612b
https://manuals.plus/m/a5be612fb3734dce4db1b182aa9e2033709e9b567a1c031d29dcb5bca7f2612b_optim.pdf
http://www.sharpusa.com
https://manual.tools/?p=15361979#MTA0LjI4LjIwMi4xNzk7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	SHARP Mxx1-2 Large Format Display Installation Guide
	SHARP Mxx1-2 Large Format Display
	Specifications
	Product Usage Instructions
	FAQs
	Product Description
	Dimensions
	Installing and Removing the Optional Table Top Stand
	Cable Connection
	Documents / Resources
	References



